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If P and Q are two non-empty subsets of a set X such that P is not a subset of Q,
then:

(A) Pisasubset of the complement of Q

(B) QisasubsetofP

{C) P andQ are disjoint

(D) P and the complement of Q are no disjoint

If a set P has n elements, then the number of elements in the power set P is :
Ay (B) 2"
(C) 2% () 2™!

If sets P and Q are defined as P = {{x,)), y = &*, x c%}; Q = {(xy) y=x xR},
then :

(A) QeP (B) PcQ

C) PnQ=¢ D) PuQ=P

It f,(x) and f,(x) are defined on a domain D, and D, respectively, then domain of
f,(%) + f(x) s :

(A) D, D, (B) D,uD,

({€) Dy-D, (D) D,-D,

Let n(P) = 4 and n(Q) = 5. The number of all possible injections from Pto Q is :
(A) B (B) 120
(C) 24 (D) 30
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10.

Let S be a set containing 10 distinct elements, then the total number of distinet
functions fromSto Sis :

(A) Z10 B) 10'?
{cy aw (0} 21°_4
L sin® x cos? x y

Hozxz< > and 81 + B1 = 30, then x is equal to :

" n
(A) 3 (B) 3
) = (D) 0

4
The value of the expression il ot is:

cot2x

(A) 1 B) 2
(C) -1 (D) 4

The value of .‘,I'Ecngnr; 20°-sec20° is equal to :

2sin20°
gt 8) sin40"”
2sin40"
i O “gin20°
If L + 3 - 1 + te _ﬂth ki T
And AxB AxB ST DIBTER L g UK GQURL D ;
1! 1
A 3 |
R | D 2
(C) (D) <
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1.

12.

13.

14,

15.

If Zis a complex number, then |Z- 8| < |Z - 2| implies :
(A) Re(Z) =5 {B) Re(Z)>5
(C) Rel(Z) <5 (D) Re(Z)=5

The minimum value of [22Z - 1|+] 3 Z-2|is:

(A) (B) O

L
3

2
D} 3

1
© 3 3

The inequality 3 - 2x < 4x - 5 has solution as the set of all real numbers when :

B J{{i B _!:'::'E
(A) x<z B x=3

How many 5-digits telephone numbers can be constructed using the digits 0 to
8, if each number starts with 67 and no digit appears more than once ?

(A) 335 (B) 338
(C) 338 (D) 340

Every body in a room shakes hands with every body else. The total number of
hands shake is 66. The total number of persons in the rooms is :

(A) 11 (B) 12
(C) 13 (D) 14
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9
16. The term independent of x in the expansion of [g IE—%] is:
T 5
(A) 18 (B) 18
11 13
(C) 18 (D) 18

17. I x=(99)* + (100)*° and y = (101)*°, then :
(A) x>y B} y>x
(C) x=¥ (D) x=y=>xy

5
18. The value of the expression "'C4+ Y 527/C,is equal to:
i

() Yc, (B) *C,
(C) *c, D) ®'c,

19. Hx, 1, zareinA.P.and x, 2, zare in G. P.,then x, 4, zare in :

(A) AP (B) H.P.
(C) GP. (D) Mone of these
20. If the sum ufthnsurlus1+§+%+%+1.1.‘..............*ilsuﬂnﬂenumbﬂ. then :
(A} x<2 (B x=>-2
(C) x}% (D) x=2
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21. Sum of nterms ofthe series 13+ 3% + 5%+ P 4 ... is:
(A) rPlart-1) B) mPn-1)
(C) P+ 8n+ 4 (D) 20 +3r

22. The points P =(1, 2), @ = (2, 4) and R = (4, 8) form a/an :
(A) isosceles triangle (B) equilateral triangle
(C) straight line (D) right-angle triangle

23. If the three points (3g, 0), (0, 3p) and (1, 1) are collinear, then which one is true 7

1 1 1 1
—4—==0 — == ]
(A) P q E) P q
1 1
"'+_=3 D —+_=1
(©) P q (D) P g

24. P =(1,0),Q=(-10) and R = (2, 0) are three given points, then the locus of a
given points S satisfy the relation SQ? + SR® =2SP%isa:

(A) a straight line parallel to x-axis
(B) a circle passing through origin
(C) a circle with the centre at the origin

(D) a straight line parallel to y-axis

25, The least and the greatest distances of the point (10, 7) from the circle
¥+ y —4x-2y-20=0are:
(&) 5,10 (B) 15,20
(C) 12,186 (D) 5,15
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26.

27.

28.

29,

The circle (x—=1)2 + (y—2)° =16 and (x + 4)% + (¥ + 3)%=1:
(A) touch each olher (B) are coaxial

(C) intersects each other (D) none of these

The axis of the parabola 9)° = 16x=12y~57 = 0is:
(A) y=3 (B) x+3y=3
(C) 2x=3 (D) 3y=2

If the length of the major axis of the ellipse is three times the length of its minor

axis, then its eccentricity is :

1 1
@ 3 B8 7
1 2.2
© % o 22

The latus rectum of a hyperbola 9x° - 16)° + 72x-32y-16=0is :

g g
(A) P (B) i
a2 a2
(C) = (D) 3

If the line joining the points (4, -2, 3) and (-5, 4, 0) passes through (a, b, 2), then :
(A) a=0, b=1 (B) a=1.b=1
(C) a=1,b=0 (0) a=0.b=0
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3.

32.

33.

The distance of the point (1, =5, 9) from the plane x - y + z= 5 measured along
the line x= y=zis;

(A) 3,10 (B) 1043
10 20
© 73 @

The product of n positive numbers is unity. Then their sum is :
(A) a positive integer (B) divisible by n

1
(C) equalto n+ﬁ (D) never less than n

The contra positive of the statement if “4x-2=10then x=3"is:
(A) ifx=3thendx—2=10 (B) ifdx—2=10then x =3
(C) ifx=3,thend4x-2=10 (D) none of these

The mean of 5 observations is 4.4 and variance Is 8.24. If the three of the five
observations are 1, 2 and 6, then the other two observations are :

{A) 3.4 (B) 7.4
(C) 8.4 (D) 9.9

Mean deviation of 6, 8, 12, 15, 10, 9 through mean is :

(A) 10 (B) 2.33
(C) 3.33 (D) 4.33
The principal value of ain“[—:’;—il is:
-
W - ® -3
41 2
) = © 5
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37.

14 421
The value of [W' 1'5'”“" 1§J is equal to :

A E E __Ilr_

A 37 B) 75
17 7

€ & (B 37
\d, 0 i::-]

p=19 92 0 | yhen Adjoint (P)is equalto:
[0 0 dy
i _
diiin 1 0 ditly= 8= 7"

&) 0D d;' 0 @) 0 dydy 0
0 0 dy| 0 0 dydy]
(dody 0 O [ods 0 0

©) 0 dydy 0 o |° dydy O
0 0 dida) 0 0 dyds

1+a 1 1T ]
;
if —+—+—=0then 1 1+b 1 is equalto:
abe 1 1 1+¢c
(A) 0 (B) —abc
(C) abe (D) a+b+e

40. If Pis any square matrix, then the matrix (P + PT) will be :

(B) symmelric
(D) identity

(A} diagonal
(C) skew-symmetric
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41.

45.

The following system of linear equations has :
X+2y+32=1;2x+ y+32=2;5x+5y+9z=4
(A} aunique solution (B) infinitely many solutions

(C) no solution (D) exactly three solutions

X
If f{x) = (1 —x}tnnn?, then IMIt it ) is equal to :

2
(A ®) -

&
2
0

(C) (D) 1

lm x1(5)=51{x)

It f5)=7 and f°(5) =7, then is equal to :

X-5
(A) 35 (B) -35
(C) 28 (D) -28

The graph of the function y = f{x) has a unigue tangent at the point (a, 0) through
1+ 61(x))
the graph passes. Then, lim [logy(1 + 61(x))]

s 3f(x) is equal to :
(A) O By 1
[C) 2 (D) 3

Let y= x* &, then the interval in which yincreases with respect to xs :
f"ﬁ'} |:—u':|i=':|]- {E]' {"2. u}
(C) (2,=) (D) (0,2)
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47.

if the line ax + by + ¢ =0 is a normal to the curve xy =1, then :
(A) a=>0,b>0 B) a>0,b<0
{C) a=0b=0 (D) a<0,b<0

The value of ¢ in Lagrange's mean value theorem for the function

fix)=log(sin x) in the interval [%5?“] is:

n T
(A) o (B) 2
L %
€ 3 B 3
Let P(x) = 8y + 8,6° + 8,0 + s + a_x*" be a polynomial in a real variable x
withD<a,<a, <8,<...cccccvr <a_. The function P(x) has :
(A) neither a maxima nor a minima (B) only one maximum
(C) only one minimum (D) one maxima and ong minima

If !‘L='tﬂ“.1 [b““-x—i-i]-bﬂ'.th!n .

S+4sinx 2 3
2 1
(A) 3-5 (B) 3""3'
5 _2
(C) 5—3 @) b=
; I!-n‘hsx” e :
The integra S exd41)° s equalto:
B 10
e bR e e——— + C
W “oF ® i
x5 _x'0

+c (D)

+E
© 2 2(x% + x% + 17
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200

51. Thevalueof [ (ax”+bx+c)dx depends on the value(s) of :

02.

54,

55.

-200
(A) b only (B) conly
(C) aonly (D} bolthaand b

The area bounded by the curve y° = Bxand x* = 8y s :

32 4
W 3 ® 3
[ 64
© 3 © 3

5 [ 2 2
dy dy
The degree of a differential equation [1 + E} = { pre } is equal to :

(A) 2 (B)

onima

(D) 5

Pl

(C)

The differential equation sec? y g stanxy=x" s :
{A} non-linear differential equation

(B) linear differential equation

(C) homogeneous differential equation

(D) linear and homogeneous differential equation

The vectors 2/ . 3f- 4k and aj + bj + ck are perpendicular when :
(A) a=2,b=3,c=-4 (B) a=4,b=4,c=5
(C) a=4,b=4,c==5 (D) a=4,b=3,c=-5
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59.

The volume of a parallelopiped whose sides are given by

OA=2/-3j, OB=i+j-kand OC=3/ - kis:

(A) 1 (B) 4
2 7
{C) 7 @ 3

In linear programming, objective function and objective constraints are :
(A) solved (B) quadratic
(C) linear (D) adjacent

For linear inequalities, solution set for a group of inequalities is classified as :
(A) concave sel (B) convex set

(C) loss set (D) profit set

An urn contains 8 red and 5 white balls. Three balls are drawn at random. Then,
the probability that balls of both colors are drawn is :

40 70
(A) 143 (B) 143
3 10
€ 33 D) 33

A coin is tossed 3 times. The probability of obtaining at least two heads will be :

1
(&) % B 3

X
(C) 1 @) 3
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